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"1-31~~ 1 n%-Elapaaaal~luvP.blwaaa-baw~n

"upale
bbwun dasaaal~~lnPr~%~~ln~~~

A B C

i%l 10.7 5.0 2.0 2,705

%%I 5 .4 10.0 4.0 2,210

El-y 0.7 1.0 2.0 445

iil$ViTWiXJ 10 ¶JlW 15  IJlYl  20 EllW
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A 1 1 10 i iia8n-G

C

D

3lRl

100

10

$1.00

10

100

$1.10

10

10

$0.50
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1 3,ooo $3

2 2w3 $ 6

3 4,000 $4

4 1,000 $5

OR 203 1 4 1
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xz,+ x2, + x2, x3, + x3, + x3,=
600 300

OR 203

x,,+x,,+x,, ~ x3A+x3B+x3c.-
400 300

1 4 5
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x = 2&g  = 252.8 B@l  L

OR 203 149



Y 1 K(541.0)

X
L(252.8)

1 5 0 OR 203
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Y = 221 -0.54 (x)

mm‘6  (4)  bm:  (5)  ak~fka~~l~

541  -.2.14x  =  2 2 1  -0.54x

wio

(5)

OR 203 1 5 3
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t *
1 5 6 OR 203
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1 5 8 OR 203



\I 0 2,705 10.7 5 2 I 0 0

s> 0 2,210 5.4 IO 4 0 I 0

si 0 445 0.7 I 2 0 0 I

OR 203 1 5 9
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0

0
N
c-4

0

VI

f

0
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Id xnrbu ¶J%Jlt-k  10 15 20 0 0 0

‘I 0 2,705 1352.5

OR 203 1 6 3



2,705  =
2

1352.5 HtiaU

2,210
4

= 552.5 miau

1 6 4 OR 203



445- -
2

= 222.5 vlbau

OR 203 1 6 5
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2,210 --

5.4 ~~

10 --

4 --

0

1 -.

0 -.

lua&l

Ekl31nsi  =

(445 x2) = 1,320

(0.7 x2) = 4

(1 x 2) = 8

(2 x2) = 0

(0 x2) = 0

(0 x2) = 1

(1 x2) = -2

~~~~llL~~‘JLfh~Pa  key column
key number

10.7 ~~ (0.7 Xl) = 10

5 (1 x 1) = 4

2 -~ 67 x 1) = 0

1 -. (0 x l ) = 1

0 -. (0 x l ) = 0

0 (1 x l ) = - 1
P)

UR~~OWiaP4~1~4~a~l”7%Pd~l919~  II

“1319ii  I I

hlsabncju fh%mio ¶.J%J;m 10 15 20 0 0 0

vniau x Y z SI  s2  s3

SI 0 2,260 10 4 0 1 0 -12T=565

S2 0 1,320 4 8 0 0 1 -2y=  1 6 5

1 6 7



10 1 5 20 0 0 0

- 10x0 -4x0 -0x0 -1x0 -0x0 -(-1)X0

-4x0 -4x0 -0x0 -0x0 -1x0 -(-2)X0

-0.35 x 20 -0.5 x20 -1x20 pox20 -0x20 -0.5x20
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0.5-(-2x0.0625)  = 0.625

[1,600(O)+ 165(15)+140(20)/

“md 111
%d hl%3 IO 15 20 0 0 0

-mm
&lpstiau

Ll%.Jlsla
x Y z bl s2 51

- SI 0 1,600 8 0 0 1 -0.5 o] 200

Y 15 165 0.5 I 0 0 0.125 -0.25 330

z 20 140 0.1 0 I 0 ~ 0.062 0.625 1,400

L l aulahGh.bqrl~ +0.5 0 0 0 -0.625 -8.75 I

t-&h&tazG79~nId u8asl”sla~~P:Gla~laJl

1 7 0 OR 203



x IO 200 I 0 0 0.125 -0.062 0 3

1' IS 65 0 I 0 - 0.062 0.156 - 0 . 2 5

I 2 0 120 0 0 I -0.012 - 0.056 0.625
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3a+2b  > 50

1 7 6 OR 203
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3a+2b-q+A,  =  5 0 . . . . . . . ...(6)
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I
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n”up9d 3 2.5 0
Program IhJlCL!

GisP1P;aa a b

b 2.5 10 I
z I Lo = 20

I
T

A2 M 3 0 2 0 J!=
2

15J

OR 203 181



b
3 I
x 4

I I
4 z

1 8 2 OR 203
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1 8 6 O R  2 0 3
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410 Y=A(r,N+M+l)/CI(I,‘I)
420 I F  S=I  T H E N  44.0
47.13 I F  Y>:=~[S,N+Ml.i)/A(S,  r) IHEN 450
440 s:1
450 NEX’? I
460  I F  5-I  T H E N  5’70
471:)  F - O K  :I=1  ‘I’0 N-FM
4 8 0  IF X ( I ) =1 ‘TI-IEN 500
4Y0  I F  A(S,I)=l T H E N  31(.1
5W  NEXT  I
510 X(I)=1:X(T)=O:Y=~(S,T)
5170  F O R  I=:l  T O  N+MtI:A.(S,I)~A(5,I’)/Y:lUEXT  I
5.3)  F O R  I=1  T O  Nt.2
5 4 0 If: I=S  T H E N  5-70
550  Y=.A(I,T)
560  FOli  J-1 T O  N+M+I:A(I,J)-~~(I,J)--Y~~(~,J):NEXT  J
570 NEX~I-  I :  GOT13  270
330 PRINT  ” 1NFEFISIHL.E”  : STOF
590 PRINT “UNHOUNDED”  : STOF
600  F O R  J=l  T O  M
610  I F  X(J):0  T H E N  br;l:B
6213  X (J)  =I:):  GOT0  67iJ
630  F O R  I-2 T O  N+l
6 4 0 TF  A(I,J)=l T H E N  660
650 NEX”i-  [
660 X(J)=A(I,N+M+i)
670 NEXT J
680 Y-A(l,N+M+i):PRINT
6 9 0  PRINT  “ O B J .  FUNC.=“;Y:PRINT
700  F O R  I=1  T O  M:F’RINT  “X(“;I;“)-=“;X(I):NEXT  I
7 1 0 E N D
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